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Write your roll number on question pap.er before start writing answers of questions. No supplementary
answer-book will be given to any candidate, hence the candidates should write their answers precisely.
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Part-A shall contain Question No. ] consisting of very short type X (Ten) questions. The candidate is

required to answer each question in 20 words. Part-B shall contain Question No. 2 consisting of V (five)
questions. The candidate is required to answer each question in 100 words. Part-

Iype questions (one from each section) with internal choice- - - T e T :
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Attempt five question in all. All questions of Part-A and Part-B gre compulsory while rest 3 question are
to be attempted from Part-C selecting one question from each section. Ail question carry equal marks.
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C shall contain 3 essay_ .-
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PART-A /¥ 1—31 . .
| Explain the following - :
=1 3 v Fifte -
@) Say’s Law of Market
) . WP 9eIR g
(i)  Intermediate Goods
T gy
(iii)  Aggregate Demand
Y i
(iv})  Definition of Inflation
HETEpIT @ gfRarr
(V) What are the Macro Paradoxes? . .
wHftens R Far 87
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(vi)  Liquidity Tra:p

TR oA
(vii) What is Investment Multiplier?
fafrirT Tors T &7
(viii) Primary function of money
& & urafae et
(ix)  Value added
(x) SLR
‘ PART-B /4ri—g
2. Explain the main difficulties in measurement of National Income.
ST A VT P G Bfoagdl B AT |
3. Difference between Multiplier and Accelerator
TS qAT TR § 3T
4. Four Measurement c of Money
HET B "R A
5. Measures to control Inflation
Terf B Frif a9 @ S
PART-C /979
6. What do you understand by the circular flow of income? Expiam with the help of two-

sector and four-sector model.
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Critically examine the Fisher’s Quantity Theory of Money.
frar @ ggT gRAYT Rigra &Y eI @R B |
7. Explain the complete classical model of employment and output with the help of equation
and diagrams.
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Epram the theory of accelerator, What are the criticisms of acceleration principle?
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Describe main functions of Reservc Bank cf India and elaborate its instruments of Cl’lbdlt
control: . .
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What are the inain objectives of Monetary Policy of India? To what extent could it achieve
its objectives? Explain.
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1. Explain the following -
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(i) Say’s Law of Market
A P AR Fram

(ii) Intermediate Goods
A A

(iii)  Aggregate Demand
THT AT

(iv)  Definition of Inflation
B & oy

(v) What are the Macro Paradoxeg9
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2. Explain the main difficultics in measurement of National Income.
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3. Difference between Multiplicr and Accelerator
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4. Four Measurement of Money
"8I 3 TR A
5. Measures to control Inflation
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6. What do you understand by the circular flow of income? Explain with the help of two-

sector and four-sector model. -
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Critically examine the Fisher's Quantity Theory of Money.
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7. Explain the complete classical model of employment and output with the help of equation
_and diagrams.
ISR 9 Feara @ et wfaflea dise B wdiexen 9 Yaifml 9 wema @ wHengd |
OR/3rar
Explain the theory of accelerator, What are the criticisms of acceleration principle?
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8. Describe main functions of Reserve Bank of India and elaborate its instruments of credit
control. f.
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